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Ideals for irreducible component#ﬂ)f Xpar

I = (u™ +u® 4+ +3u? - 1)

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(u**4+u®®+..-4+3u?—-1)

(i) Arc colorings

—ub —3ut — 242 +1
u® + 2u* + u?
w? + 4u” + 5ud — 3u
—u® —3u" —3u’ +u
w'? + 5010 + 98 + 448 — 6u? — 5u? + 1
—ul? — 4010 — 6u® — 2u8 + 3ut + 22
—ul® — 6ul3® — 1dutt — 12u° + 6u” + 16w® + 4u® — 4u
wl® + 503 + 10wt + 70 — 4u” — 8u® — 2ud +u
wt + 13w+ —3uZ +1
—udt — 12032 4+ .. — 120t — o2
( —u'® — 716 — 2001 — 25012 — 10 4 3108 + 24ub — 6ut — 9u + 1 )

ag = \ 20 + 8u'® + 26u!0 4+ 40u* + 17u'? — 3210 — 4248 — 6u8 + 11u* + 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*? + 4u*! + .- + 16u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut 4+ 19u® - F 6u+ 1
Co,C7 AR T R e |
€3,C4,C5 utt — B 10u -1
C9,C10
Cg,C11,C12 Mt a4 430 -1
s ut 4+ 3u® 4+ —6u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y+ 13y 22y +1
C2,C7 Y™ —19y" - — 6y 41
C3,C4,C5 y44_59y43_~_._._54y+1
Cy, C10
€65 C11, C12 y* 4+ 33y + . —6y+1
s yM Tyt 82y 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.082710 4 1.0341301

—1.54661 + 2.056111

8.37488 — 3.952231

uw= 0.082710 — 1.0341301

—1.54661 — 2.056117

8.37488 + 3.952231

u = 0.936863 4 0.0092781

16.2934 + 1.81001

14.1723 — 0.14931

u = 0.936863 — 0.0092781

16.2934 — 1.81001

14.1723 + 0.14931

u = —0.935926 4 0.0166711

14.5097 — 7.31921

11.79267 + 4.651411

u = —0.935926 — 0.0166711

14.5097 + 7.31921

11.79267 — 4.651411

u = —0.922774

10.3646

8.49180

u = 0.334170 + 1.1452501

0.99109 — 2.195131

8.38399 + 2.006521

u = 0.334170 — 1.1452501 0.99109 + 2.195131 8.38399 — 2.006521
u = 0.111285 4 1.2227801 —3.02800 + 1.821771 4.52707 — 4.007851
uw= 0.111285 — 1.2227801 —3.02800 — 1.821771 4.52707 +4.007851
u = —0.332008 4 1.1846001 2.37614 — 2.741131 10.71959 + 3.570741
u = —0.332008 — 1.1846001 2.37614 4 2.741131 10.71959 — 3.570741
U 0.735559 + 0.0861011 4.16453 4+ 6.091521 11.57779 — 6.236521
u= 0.735559 — 0.0861011 4.16453 — 6.091521 11.57779 + 6.236521
u = —0.737441 + 0.0455211 5.81912 — 1.131821 14.6136 + 0.82971
u = —0.737441 — 0.0455211 5.81912 4 1.131821 14.6136 — 0.82971
u = 0.254973 + 1.2381301 —2.72721 + 3.143871 2.66290 — 3.976641
u = 0.254973 — 1.2381301 —2.72721 — 3.143871 2.66290 + 3.976641
u = —0.052643 + 1.2713001 —6.04499 + 0.877301 | —2.26593 + 0.1

u = —0.052643 — 1.2713001 —6.04499 — 0.877301 | —2.26593 + 0.1

u = —0.125668 4 1.2774101 —5.21494 — 5.744371 0.+ 7.958741
u = —0.125668 — 1.2774101 —5.21494 4 5.744371 0. — 7.958741
u = —0.317064 + 1.2528101 1.82759 — 4.919221 6.00000 + 0.1

u = —0.317064 — 1.2528101 1.82759 + 4.919221 6.00000 + 0.1

u = 0.310157 + 1.2777301 —0.05454 + 9.838371 0. — 8.984551
u = 0.310157 — 1.2777301 —0.05454 — 9.838371 0.+ 8.984551
u = —0.463937 4 1.2807201 10.59120 + 2.331161 0

u = —0.463937 — 1.2807201 10.59120 — 2.331161 0

u = —0.447547 4 1.2893901 6.35891 — 4.890401 0




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.447547 — 1.2893901

6.35891 + 4.890401

u= 0461829 + 1.2869201

12.32910 + 3.175051

u= 0461829 — 1.2869207

12.32910 — 3.175051

u=0.455030 + 1.300690.1

12.21970 + 6.773931

u = 0.455030 — 1.3006901

12.21970 — 6.773931

u = —0.451869 + 1.3056107

10.3943 — 12.27001

u = —0.451869 — 1.3056101

10.3943 + 12.27001

[ev] Nen] Nl Hen] Nev] Nev] Nen)

u= 0.612221

1.07090

8.97140

u = —0.406842 4 0.2744921

—0.57374 — 3.951281

7.80963 + 8.876941

u = —0.406842 — 0.2744921

—0.57374 4 3.951281

7.80963 — 8.876941

u = —0.161520 + 0.3961771

—1.30168 + 1.574081

3.52762 — 0.393781

u = —0.161520 — 0.3961771

—1.30168 — 1.574081

3.52762 + 0.393781

u= 0.405167 + 0.0943551

0.790867 + 0.1019401

13.27829 — 1.932621

u= 0.405167 — 0.0943551

0.790867 — 0.1019401

13.27829 4 1.932621




II. u-Polynomials

Crossings u-Polynomials at each crossing
1 utt + 19u™ 4 4 6u+ 1
Ca,C7 ut +ut 3 - 1
C3,C4,Cs u44_u43_~_”._10u_1
€9, C10
C6, C11, C12 utt +ut 4 3u? -1
Cs ut* +3ut 4 —but 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ y 13y 22y + 1
C2,C7 y44—19y43+...f6y+1
€3,C4,C5 y44—59y43+~--—54y+1
C9, C10
C6,C11, C12 y44+33y43+~--76y+1
cs R S NI




